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A - ER(EN) - AR - B of & o4 SSa HIDZ2
=0 640,588 662,713 N22,125
d2el 530,067 555,729 N 25,662
ZEE MEX=2 83,003 116,206 A 33,203
Hags € SHX2 40,681 40,680 1
201 fEt2E | 33,361 33,360 1
01 AtR 2t 2l | 15,761 15,760 1
O1 &et=ZHl 15,761
D30 A MeX=8l 400,000& =13 5,200
PHEX H3E3, 27 =2
1,320 *4,0913] 5,401
DHEXN MAEZEANLE 018
330,000& ~12& 3,960
DEU, S (SAILZRED
300,000 »20H x23] 1,200
02 3224l 17,600 17,600 0
O3 A& ZHl=Xlbl 17,600
DOUHSEULRT FAE= 17,600,000 14 17,600
202 o4 4l 7,320 7,320 0
01 ZLHO I 7,320 7,320 0
OMEgXd=g+d 0l 610,000& =122 7,320
SIS E SX 42,322 75,526 A 33,204
101 1248l 16,826 0 16,826
04 DIt Z22 XS+ 16,826 0 16,826
OXsxt gt dX HREX 16,826
>ole= 68,8003 x1Q1 124 8,532
bEsad 68,8003 12«26 1,789
DAXE 68,8003 x1Q1«6 413
D> &M Z A 130,000& 121 x6& 780
PME=- 120,000& » 12! x6E 720
>YE SO 100,000& »11x13] 100
>aol3 68,800 x 121212 %23] 2,890
bP=oUAS 15,222,400 *4.5/100 686
DALEE 15,222,400& %3.23/100 492
PEAIRAEE 492,000% *8.51/100 42
PUEEE 15,222,400 *1.5/100 229
DATHES 15,222,400 *1/100 1563
201 fEt2E | 21,096 51,821 A 30,725
02 832gHl 21,096 34,056 212,960
O3 A& &HI=Xlbl 16,692
PASLFHMAIAY RIL2+
330,000& =122 3,960
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120,000 =27} 3,240
OHSE AX22l AlAE 280,000 122 3,360
OXSEMHE AXIAAE 350,000 <122 4,200
OHSTYEX BUASSAIAL
161,000 « 12 1,932
O4 Xtgkd eyl 4,404
DIUBSXH (ESUHSEEY)
4,404,0002 =1 CH 4,404
202 0i] 2,400 2,400 0
01 2o b 2,400 2,400 0
OHSEHIX L2280 200,000 « 12 2,400
305 a2 S 2,000 2,000 0
01 =S 2,000 2,000 0
OX2SE 2214 (YXIRY)
200,0002 *10CH 2,000
Hel=st) 173,831 111,873 61,958
A2l Mg &4 173,831 111,873 61,958
201 LBt 45,760 38,507 7,253
01 AL 22l H 7,660 8,000 A 340
O1 LBt2H| 6,020
D A2l DRIA 66,0002 202t A 1,320
DEU, S (A, Z&IHII)
300,0002 *3CH *33] 2,700
DPPT & IME (MR- HEF)
2,000,000 x13] 2,000
O3 2944 1,640
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70,0002 %401 %33 840
DERXFAORASG FHALY
100,000 %891 800
02 2229t 38,100 30,507 7,593
O1 2222 2 HA 25,950
DM AEHESY 20
850,000,0002 2/100 17,000
DA% DFAAFSE 228
802 %50,0002H 4,000
DHEDIN SELE2 3302 %15,000 4,950
O3 A2 ZHIK X HI 12,150
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262,500 x 12 3,150
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202 (4] 6,000 6,000 0
01 2L Y] 6,000 6,000 0
OMA+-dHEHE A28 0|
500,000& x12& 6,000
308 AXISHXSO0IH 32,313 67,366 A 35,053
10 B2 SHUSHE A A AE A H| 32,313 67,366 AN 35,053
ONAFUXHEBAAL SXES
32,313,000& *14] 32,313
403 X SHMS K201 A 89,758 0 89,758
02 3J2SH st A2 A | AL B 89,758 0 89,758
OXMU NEAHA-LEEAAE 2S5 ALY
89,758,000& *14] 89,758
XA A A 4 273,233 327,650 NB4 417
X ghAl Mg AL 273,233 327,650 VANGY. WS 4
101 @121l 25,352 65,403 N40,051
04 JIAH2E2NER 2 25,352 65,403 40,051
OXNLM SAXNA SHH 29 25,352
>IlE3 68,800& *301 x62 12,797
>EE4 68,800 #3291 x13 2,684
> A X g 68,800& x30! 3 620
> &M= AlH| 130,000& #3201 x3& 1,170
D nNEEXH| 120,000& #3201 x3& 1,080
> a3 18,349,200& *3/12 4,588
>=0dZ2 22,936,500& *4.5/100 1,033
>DHLEEH 22,936,500& *3.23/100 741
DEINY 741,000& *8.51/100 64
>PIEEH 22,936,500 *1.5/100 345
DA EE 22,936,500& *1/100 230
201 LBt | 198,081 212,447 A 14,366
01 AP 22l Yl 14,120 45,100 A 30,980
O1 dEtx=2H| 14,120
PHEDXA(EEE) 66,000 *208 A 1,320
DEUH,EE (AT, Z2IHII)
300,000& *7CH 33| 6,300
PEXNKLIE, CE& L2 (2EII)
5,000,000& *1CH *13] 5,000
>EANFPH 1,500
O XA SHEHE & At2ll&  100,000& *55 500
O KNEA HEE 50,000& *205 1,000
02 3524t 183,961 167,347 16,614
O1 2222 % HA 159,911
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DXIZA JL&AR =8
80& *250,000H 20,000
DXYA AEINE 22
80& +150,000 12,000
>XYAN ARS & AQIEE 22
80& +12,000A 960
DHEE AIEZ 40,000 =30 122 1,440
PHMEDXNAN SEHLEESR 125,511
[eR=p] 2,130& +3,500A 7,455
O LB H 330& *350,000A 115,500
O SJREELS 2,130& *1000H =128 2,556
O3 A& & Hl s X bl 24,050
D XYM ARS ZHEY SR AIAE FXE
9,400,000& » 14! 9,400
DAYMN 22LHR AMAE RAES
3,000,000& x14! 3,000
DO A RANAY SX24 6,650,000 14! 6,650
DIQIEE 255 AAE RS>
5,000,000& =14l 5,000
202 O4dl 10,800 10,800 0
01 = LH 4 4l 10,800 10,800 0
OXNLNE=FR 04 900,000& »12& 10,800
303 &3 39,000 39,000 0
01 Z&3 39,000 39,000 0
O&=x ZHS (XYM MA+-, EHS)
39,000,000& » 14! 39,000
HY2AZ Y (& 4=1) 110,521 106,984 3,537
ol Y| (& 41) 61,666 57,352 4,314
ol 2yl (& 4=1) 61,666 57,352 4,314
101 @144 dl 61,666 57,352 4,314
01 2= 59,902 55,615 4,287
oAt 2% 10,509& 1921 x300 Al 2t 59,902
03 RIAHAAZ 2 RHE > 1,764 1,737 27
og@Ezz+d 1,764
DHFAMLRA(XNLAMEE =)
14,697 & 221 x60 Al 2t 1,764
Jl=&l 48,855 49,632 ANTTT
Jl2234 48,855 49,632 ANTTT
201 Let24d] 22,275 22,752 ANATT
01 At 22l 18,042 18,594 A 552
O1 gt==2Hl 12,282
PEMN2I+=EH 11,282,000 =14l 11,282
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& 123l CEE-ED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
DOIA AWM (222 S)
1,000,000& * 14 1,000
O5 =&t 5,760
>Oor2t. 5222 8,000& x202! x3 x12& 5,760
02 35244l 4,233 4,158 75
O1 2222 ¢ HMA 2,556
DRERZ 2,130& #1004 = 12& 2,556
O2 A=zt 1,677
> AR A (L) 9703 x3CH*BAl 2F*72L 1,677
202 O B 11,880 11,880 0
01 2L Y] 11,880 11,880 0
OJlag® =0l 740,000 12& 8,880
OXNZLA HMEgLgRFEE 22 0|
3,000,000& x14] 3,000
203 &R =&H| 4,200 4,200 0
04 ENSHLRE=AH| 4,200 4,200 0
ORANSELERFAY| 350,000& = 12& 4,200
405 XtabE SHI 10,500 10,800 A 300
01 AL 2B F SHI 10,500 10,800 A 300
OPC(12 HM) 1,300,000& =7 CH 9,100

OZele (Al 700,000 »2CH 1,400




